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Q.1 यदि ‘#’ का अर्थ ‘+’, ‘@’ का अर्थ ‘–’, ‘Y’ का अर्थ ‘×’ तथा ‘S’ का अर्थ ‘÷’ हो, तो
15 Y 10 S 5 # 20 @ 25 = ?

Ans 1. 35

2. 25

3. 30

4. 20

Question ID : 630680372131
Option 1 ID : 6306801449823
Option 2 ID : 6306801449826
Option 3 ID : 6306801449824
Option 4 ID : 6306801449825

Status : Answered
Chosen Option : 2

Q.2 निम्नलिखित प्रश्न में दी गई श्रृंखला में से लुप्त अंक ज्ञात कीजिए।
1, 3, 8, 18, 35, ?

Ans 1. 60

2. 68

3. 64

4. 61

Question ID : 630680372127
Option 1 ID : 6306801449807
Option 2 ID : 6306801449810
Option 3 ID : 6306801449809
Option 4 ID : 6306801449808

Status : Answered
Chosen Option : 4
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Q.3 निम्नलिखित प्रश्न में दिए गए विकल्पों में से विषम अक्षर/अक्षरों को चुनिए।

Ans 1. NR

2. MP

3. QU

4. AE

Question ID : 630680372121
Option 1 ID : 6306801449783
Option 2 ID : 6306801449786
Option 3 ID : 6306801449784
Option 4 ID : 6306801449785

Status : Answered
Chosen Option : 2

Q.4 एक विशिष्ट कोड भाषा में, ‘BIRTH’ को ‘ELUWK’ लिखा जाता है। इस कोड भाषा में ‘HELLO’ का कोड क्या
है?

Ans 1. KHNNR

2. JHOOQ

3. KHOOR

4. KHOOQ

Question ID : 630680372118
Option 1 ID : 6306801449771
Option 2 ID : 6306801449774
Option 3 ID : 6306801449773
Option 4 ID : 6306801449772

Status : Answered
Chosen Option : 3

Q.5 एक विशिष्ट कोड भाषा में, ‘EXCEPT’ को ‘FWDDQS’ लिखा जाता है। इस कोड भाषा में ‘GERMAN’ का
कोड क्या है?

Ans 1. HDSLBM

2. HDSLCN

3. HDLSBN

4. HDSLZO

Question ID : 630680372125
Option 1 ID : 6306801449800
Option 2 ID : 6306801449801
Option 3 ID : 6306801449802
Option 4 ID : 6306801449799

Status : Answered
Chosen Option : 1
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Q.6 एक अनुक्रम दिया गया है, जिसमें से एक पद लुप्त है। दिए गए विकल्पों में से वह सही विकल्प चुनिए, जो अनुक्रम
को पूरा करे ।
MNR, OQN, QTJ, SWF, ?

Ans 1. UYB

2. UAH

3. UZB

4. UAB

Question ID : 630680372114
Option 1 ID : 6306801449756
Option 2 ID : 6306801449758
Option 3 ID : 6306801449755
Option 4 ID : 6306801449757

Status : Answered
Chosen Option : 3

Q.7 नीचे दिए गए प्रश्न में, चार अक्षर युग्म दिए गए हैं। (–) के  बायीं ओर दिये गये अक्षर (–) के  दायीं ओर दिये गये
अक्षर से किसी तर्क /नियम/संबंध से संबंधित है। तीन उसी एक तर्क /नियम/संबंध के  आधार पर समान हैं। दिए गए
विकल्पों में से विषम को चुनिए।

Ans 1. DJ – HF

2. KP – OM

3. NT – RP

4. MS – QO

Question ID : 630680372122
Option 1 ID : 6306801449788
Option 2 ID : 6306801449789
Option 3 ID : 6306801449790
Option 4 ID : 6306801449787

Status : Answered
Chosen Option : 2

Q.8 निम्नलिखित प्रश्न में दिए गए विकल्पों में से संबंधित अक्षरों को चुनिए।
JW : LY :: KX : ?

Ans 1. CP

2. BO

3. AN

4. MZ

Question ID : 630680372119
Option 1 ID : 6306801449778
Option 2 ID : 6306801449777
Option 3 ID : 6306801449775
Option 4 ID : 6306801449776

Status : Answered
Chosen Option : 4
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Q.9 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।

कथन:
I. कु छ E, Q हैं।
II. कोई भी A, Q नहीं है।

निष्कर्ष:
I. कु छ E, A हैं।
II. कोई भी Q, A नहीं है।
III. कु छ E, A नहीं हैं।

Ans 1. कोई भी निष्कर्ष अनुसरण नहीं करता है

2. के वल निष्कर्ष I अनुसरण करता है

3. दोनों निष्कर्ष II तथा III अनुसरण करते हैं

4. के वल निष्कर्ष III अनुसरण करता है

Question ID : 630680372113
Option 1 ID : 6306801449754
Option 2 ID : 6306801449752
Option 3 ID : 6306801449751
Option 4 ID : 6306801449753

Status : Answered
Chosen Option : 3

Q.10 सात लड़कियाँ P, Q, R, S, T, W तथा X एक पंक्ति में उत्तर की ओर मुख करके  बैठी हुई हैं (जरूरी नहीं की इसी
क्रम में हो)। R पंक्ति के  किसी एक छोर पर है। T पंक्ति के  ठीक बीच में बैठी हुई है। S, X के  बायीं ओर तीसरे
स्थान पर है। Q, W के  तुरंत बायीं ओर है। Q पंक्ति के  किसी भी छोर पर नहीं है।निम्नलिखित में से कौन सा/से
कथन सही है/हैं?
I. S, R के  तुरंत दायीं ओर है।
II. T, X के  तुरंत दायीं ओर है।

Ans 1. I तथा II दोनों

2. ना ही I ना ही II

3. के वल II

4. के वल I

Question ID : 630680372109
Option 1 ID : 6306801449737
Option 2 ID : 6306801449738
Option 3 ID : 6306801449736
Option 4 ID : 6306801449735

Status : Answered
Chosen Option : 4
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Q.11 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।

कथन:
I. कु छ W, K हैं।
II. कोई भी J, W नहीं है।

निष्कर्ष:
I. कु छ J, W हैं।
II. कु छ K, J नहीं हैं।

Ans 1. कोई भी निष्कर्ष अनुसरण नहीं करता है

2. के वल निष्कर्ष II अनुसरण करता है

3. दोनों निष्कर्ष I तथा II अनुसरण करते हैं

4. के वल निष्कर्ष I अनुसरण करता है

Question ID : 630680372112
Option 1 ID : 6306801449750
Option 2 ID : 6306801449748
Option 3 ID : 6306801449749
Option 4 ID : 6306801449747

Status : Answered
Chosen Option : 2

Q.12 उस विकल्प का चयन करें  जो पांचवी संख्या समूह से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या समूह पहली
संख्या समूह से संबंधित है तथा चौथी संख्या समूह तीसरी संख्या समूह से संबंधित है।
653 : 534 :: 989 : 870 :: 346 : ?

Ans 1. 256

2. 227

3. 281

4. 237

Question ID : 630680372132
Option 1 ID : 6306801449830
Option 2 ID : 6306801449829
Option 3 ID : 6306801449827
Option 4 ID : 6306801449828

Status : Answered
Chosen Option : 2

Q.13 नीचे दी गई पांच तीन अंकों की संख्याओं  पर विचार करें  और उनके  आधार पर प्रश्नों के  उत्तर दें।
(बायां) 446 749 422 347 746 (दायां)
बाएं  छोर से चौथी संख्या के  इकाई अंक और बाएं  छोर से पांचवीं संख्या के  इकाई अंक के  योग का वर्ग क्या होगा?

Ans 1. 81

2. 121

3. 49

4. 169

Question ID : 630680372116
Option 1 ID : 6306801449764
Option 2 ID : 6306801449766
Option 3 ID : 6306801449765
Option 4 ID : 6306801449763

Status : Answered
Chosen Option : 4
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Q.14 एक अनुक्रम दिया गया है, जिसमें से एक पद लुप्त है। दिए गए विकल्पों में से वह सही विकल्प चुनिए, जो अनुक्रम
को पूरा करे ।
THDM, WBMA, ZVVO, CPEC, ?

Ans 1. FMNO

2. FQRM

3. RMNO

4. FJNQ

Question ID : 630680372115
Option 1 ID : 6306801449761
Option 2 ID : 6306801449762
Option 3 ID : 6306801449759
Option 4 ID : 6306801449760

Status : Answered
Chosen Option : 4

Q.15 525.16 ÷ 74.879 × 7.98 + 225 का सन्निकट मान क्या है?

Ans 1. 367

2. 281

3. 117

4. 441

Question ID : 630680372129
Option 1 ID : 6306801449816
Option 2 ID : 6306801449817
Option 3 ID : 6306801449815
Option 4 ID : 6306801449818

Status : Answered
Chosen Option : 2

Q.16 निम्नलिखित प्रश्न में, अक्षरों का एक समूह दिया गया है। प्रत्येक समूह के  अक्षर उसी समूह के  अक्षरों के  साथ
किस तर्क /नियम/संबंध से संबंधित है। दिये गए विकल्पों में से अक्षरों को एक समूह को चुनिए जो समान तर्क /
नियम/संबंध का अनुसरण करता हो।
(RV, TX, VZ)

Ans 1. (DJ, FL, IN)

2. (BD, DF, FH)

3. (MB, OD, QG)

4. (KL, MN, OL)

Question ID : 630680372120
Option 1 ID : 6306801449782
Option 2 ID : 6306801449781
Option 3 ID : 6306801449779
Option 4 ID : 6306801449780

Status : Answered
Chosen Option : 2
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Q.17 सात बक्से A1, A2, A3, A4, A5, A6 और A7 एक के  ऊपर एक रखे गए हैं। बॉक्स A4 के  ऊपर के वल दो
बॉक्स रखे गए हैं। बॉक्स A7 और A4 के  बीच के वल एक बॉक्स रखा गया है। बॉक्स A7 और A5 के  बीच उतने
ही बॉक्स रखे गए हैं जितने बॉक्स A5 और A1 के  बीच रखे गए हैं। बॉक्स A2 और A3 के  बीच तीन बॉक्स रखे
गए हैं। A2 को A3 के  ऊपर रखा गया है। A1 और A6 के  बीच कितने बक्से रखे गये हैं?

Ans 1. 0

2. 4

3. 2

4. 1

Question ID : 630680372111
Option 1 ID : 6306801449743
Option 2 ID : 6306801449746
Option 3 ID : 6306801449744
Option 4 ID : 6306801449745

Status : Answered
Chosen Option : 4

Q.18 C1, C2, C3, C4, C5, C6 और C7 नाम के  सात दोस्त सात मंजिलों की एक इमारत में रह रहे हैं, सबसे निचली
मंजिल की संख्या 1 है, उसके  ऊपर की मंजिल की संख्या 2 है और इसी तरह सबसे ऊपरी मंजिल तक जिसका
क्रमांक 7 है। प्रत्येक व्यक्ति एक ही मंजिल पर रहता है। C1 चौथी मंजिल पर रहता है। C7 से नीचे कोई नहीं
रहता है। C6 और C1 के  बीच रहने वाले व्यक्तियों की संख्या C1 और C5 के  बीच रहने वाले व्यक्तियों की संख्या
के  समान है। C2, C4 के  चार मंजिल ऊपर रहता है। C6, C4 के  ऊपर रहता है। C4 और C7 के  बीच में कौन रह
सकता है?

Ans 1. C5

2. C3

3. C1

4. C6

Question ID : 630680372110
Option 1 ID : 6306801449739
Option 2 ID : 6306801449740
Option 3 ID : 6306801449741
Option 4 ID : 6306801449742

Status : Answered
Chosen Option : 1

Q.19 निम्नलिखित प्रश्न में दी गई श्रृंखला में से लुप्त अंक ज्ञात कीजिए।
100, 87, 108, 79, ?, 71

Ans 1. 110

2. 118

3. 120

4. 116

Question ID : 630680372126
Option 1 ID : 6306801449806
Option 2 ID : 6306801449804
Option 3 ID : 6306801449805
Option 4 ID : 6306801449803

Status : Answered
Chosen Option : 4
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Q.20 एक विशिष्ट कोड भाषा में, ‘LIPS’ को ‘HELO’ लिखा जाता है। इस कोड भाषा में ‘GUNS’ का कोड क्या है?

Ans 1. CQJO

2. CQKO

3. CQKP

4. CQJP

Question ID : 630680372124
Option 1 ID : 6306801449795
Option 2 ID : 6306801449797
Option 3 ID : 6306801449798
Option 4 ID : 6306801449796

Status : Answered
Chosen Option : 1

Q.21 [723.89 ÷ 24.98] + [107.16 – 15.98] का सन्निकट मान क्या है?

Ans 1. 120

2. 364

3. 44

4. 200

Question ID : 630680372128
Option 1 ID : 6306801449813
Option 2 ID : 6306801449811
Option 3 ID : 6306801449812
Option 4 ID : 6306801449814

Status : Answered
Chosen Option : 1

Q.22 छह छात्र P, Q, R, S, T तथा U कें द्र के  विपरीत मुख करके  एक वृत्ताकार मेज के  इर्द-गिर्द बैठे  हुए हैं (जरूरी नहीं
की इसी क्रम में हो)। R, Q के  बायीं ओर दू सरे  स्थान पर है। S, R या Q का निकटतम पड़ोसी नहीं है। T, U के
दायीं ओर चौथे स्थान पर है। P के  दायीं ओर दू सरे  स्थान पर कौन है?

Ans 1. T

2. R

3. S

4. Q

Question ID : 630680372108
Option 1 ID : 6306801449731
Option 2 ID : 6306801449734
Option 3 ID : 6306801449732
Option 4 ID : 6306801449733

Status : Answered
Chosen Option : 1
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Q.23 एक विशिष्ट कोड भाषा में, ‘REPORT’ को ‘QDOMPR’ लिखा जाता है। इस कोड भाषा में ‘RETURN’ का
कोड क्या है?

Ans 1. QDSTPM

2. QDSSPL

3. QDSSQM

4. QDSSQN

Question ID : 630680372123
Option 1 ID : 6306801449793
Option 2 ID : 6306801449791
Option 3 ID : 6306801449792
Option 4 ID : 6306801449794

Status : Answered
Chosen Option : 2

Q.24 एक विशिष्ट कोड भाषा में, ‘REFORM’ को ‘TGHQTO’ लिखा जाता है। इस कोड भाषा में ‘SINGER’ का
कोड क्या है?

Ans 1. UKQIHT

2. UKPIHT

3. UKPIGU

4. UKPIGT

Question ID : 630680372117
Option 1 ID : 6306801449769
Option 2 ID : 6306801449767
Option 3 ID : 6306801449770
Option 4 ID : 6306801449768

Status : Answered
Chosen Option : 4

Q.25 यदि ‘J’ का अर्थ ‘+’, ‘K’ का अर्थ ‘–’, ‘L’ का अर्थ ‘×’ तथा ‘M’ का अर्थ ‘÷’ हो, तो
14 K 8 J 5 L 20 M 4 = ?

Ans 1. 29

2. 30

3. 31

4. 33

Question ID : 630680372130
Option 1 ID : 6306801449821
Option 2 ID : 6306801449820
Option 3 ID : 6306801449819
Option 4 ID : 6306801449822

Status : Answered
Chosen Option : 3

Section : General Awareness
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Q.1 निम्नलिखित में से कौन सा राजवंश "त्रिपक्षीय संघर्ष" से जुड़ा था?
I. पाल
II. चोल
III. गुर्जर-प्रतिहार

Ans 1. I तथा II

2. I, II तथा III

3. II तथा III

4. I तथा III

Question ID : 630680372095
Option 1 ID : 6306801449679
Option 2 ID : 6306801449682
Option 3 ID : 6306801449680
Option 4 ID : 6306801449681

Status : Answered
Chosen Option : 2

Q.2 2011 की जनगणना के  अनुसार, निम्नलिखित में से किस राज्य में स्त्री-पुरुष लिं गानुपात 950 से अधिक है?
I. कर्नाटक
II. मेघालय

Ans 1. के वल I

2. के वल II

3. I तथा II दोनों

4. ना ही I ना ही II

Question ID : 630680372106
Option 1 ID : 6306801449723
Option 2 ID : 6306801449724
Option 3 ID : 6306801449725
Option 4 ID : 6306801449726

Status : Answered
Chosen Option : 4

Q.3 निम्नलिखित में से कौन सा त्योहार तेलुगु नव वर्ष का प्रतीक है?

Ans 1. उगादी

2. लोसर

3. रोंगकर

4. विषु

Question ID : 630680372100
Option 1 ID : 6306801449699
Option 2 ID : 6306801449700
Option 3 ID : 6306801449702
Option 4 ID : 6306801449701

Status : Answered
Chosen Option : 1
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Q.4 निम्नलिखित में से कौन सी एक लवण जल वाली झील है?

Ans 1. लोकताक झील

2. भीमताल झील

3. सांभर झील

4. बड़ापानी झील

Question ID : 630680372102
Option 1 ID : 6306801449708
Option 2 ID : 6306801449709
Option 3 ID : 6306801449707
Option 4 ID : 6306801449710

Status : Answered
Chosen Option : 3

Q.5 1967 में भारतीय संविधान की आठवीं अनुसूची में निम्नलिखित में से कौन सी भाषा जोड़ी गई थी?
I. कोंकणी
II. सिंधी

Ans 1. ना ही I ना ही II

2. के वल I

3. I तथा II दोनों

4. के वल II

Question ID : 630680372099
Option 1 ID : 6306801449698
Option 2 ID : 6306801449695
Option 3 ID : 6306801449697
Option 4 ID : 6306801449696

Status : Answered
Chosen Option : 4

Q.6 उच्च अनधिमान वक्र ______ को प्रदान करता है।

Ans 1. उपयोगिता के  समान स्तर

2. उपयोगिता के  निम्न स्तर

3. शून्य उपयोगिता

4. उपयोगिता के  उच्च स्तर

Question ID : 630680372089
Option 1 ID : 6306801449657
Option 2 ID : 6306801449656
Option 3 ID : 6306801449658
Option 4 ID : 6306801449655

Status : Answered
Chosen Option : 2

Q.7 शैडो फ्रॉम लद्दाख' उपन्यास के  लेखक कौन हैं?

Ans 1. भबानी भट्टाचार्य

2. मुल्कराज आनंद

3. आर.के . नारायण

4. अनिता देसाई

Question ID : 630680372097
Option 1 ID : 6306801449690
Option 2 ID : 6306801449688
Option 3 ID : 6306801449689
Option 4 ID : 6306801449687

Status : Answered
Chosen Option : 1
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Q.8 विलय नीति के  संदर्भ में निम्नलिखित में से कौन सा कथन सही है?
I. यह नीति लॉर्ड हेस्टिं ग्स द्वारा तैयार की गई थी।
II. यह सिद्धांत इस तर्क  पर आधारित था कि अगर किसी शासक की मृत्यु हो जाती है और उसका कोई पुरुष
वारिस नहीं है तो उसकी रियासत कं पनी के  भूभाग का हिस्सा बन जाएगी।

Ans 1. के वल I

2. I तथा II दोनों

3. ना ही I ना ही II

4. के वल II

Question ID : 630680372092
Option 1 ID : 6306801449667
Option 2 ID : 6306801449669
Option 3 ID : 6306801449670
Option 4 ID : 6306801449668

Status : Not Answered
Chosen Option : --

Q.9 राज्यों एवं कें द्र शासित प्रदेशों के  स्कू ल बोर्डों को एक साझा मंच पर लेकर आने का कार्य करने के  लिए
निम्नलिखित में से किस संगठन की स्थापना की गई है?

Ans 1. परख(PARAKH)

2. परम(PARAM)

3. पालन(PALAN)

4. पहल(PAHAL)

Question ID : 630680372086
Option 1 ID : 6306801449645
Option 2 ID : 6306801449644
Option 3 ID : 6306801449646
Option 4 ID : 6306801449643

Status : Answered
Chosen Option : 4

Q.10 निम्नलिखित में से कौन सा त्योहार झारखंड में मनाया जाता है?
I. जावा
II. रोहिणी

Ans 1. ना ही I ना ही II

2. के वल I

3. के वल II

4. I तथा II दोनों

Question ID : 630680372101
Option 1 ID : 6306801449706
Option 2 ID : 6306801449703
Option 3 ID : 6306801449704
Option 4 ID : 6306801449705

Status : Answered
Chosen Option : 4
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Q.11 भारत में 'चावल का फोर्टीफिके शन और सार्वजनिक वितरण प्रणाली के  तहत इसके  वितरण' पर कें द्र प्रायोजित
पायलट योजना के  संदर्भ में निम्नलिखित में से कौन सा कथन सही है?
I. यह योजना 2019-20 से शुरू होकर 3 साल की अवधि के  लिए अनुमोदित की गई थी।
II. इस योजना को 17464 करोड़ रुपये के  कु ल बजट परिव्यय के  साथ अनुमोदित किया गया था।

Ans 1. I तथा II दोनों

2. ना ही I ना ही II

3. के वल I

4. के वल II

Question ID : 630680372087
Option 1 ID : 6306801449649
Option 2 ID : 6306801449650
Option 3 ID : 6306801449647
Option 4 ID : 6306801449648

Status : Not Answered
Chosen Option : --

Q.12 निम्नलिखित में से कौन सा कथन सही है?
I. भारत की जलवायु को मानसूनी जलवायु कहा जाता है।
II. भारत के  अधिकतर भागों में सितंबर से मार्च तक वर्षा होती है।

Ans 1. के वल I

2. I तथा II दोनों

3. ना ही I ना ही II

4. के वल II

Question ID : 630680372104
Option 1 ID : 6306801449715
Option 2 ID : 6306801449717
Option 3 ID : 6306801449718
Option 4 ID : 6306801449716

Status : Answered
Chosen Option : 3

Q.13 2011 की जनगणना के  अनुसार, भारत की कु ल जनसंख्या में महिलाएँ  ______ थीं।

Ans 1. 42.5 प्रतिशत

2. 48.5 प्रतिशत

3. 52.5 प्रतिशत

4. 38.5 प्रतिशत

Question ID : 630680372105
Option 1 ID : 6306801449720
Option 2 ID : 6306801449721
Option 3 ID : 6306801449722
Option 4 ID : 6306801449719

Status : Answered
Chosen Option : 3
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Q.14 जनरल वी.के . सिं ह द्वारा लिखी गई आत्मकथा का नाम क्या है?

Ans 1. एपिटोम ऑफ सक्सेस

2. करे ज एं ड कन्विक्शन

3. प्रैक्टिस टू  परफेक्शन

4. ड्यूटी ऑफ ए सोल्जर

Question ID : 630680372096
Option 1 ID : 6306801449686
Option 2 ID : 6306801449685
Option 3 ID : 6306801449684
Option 4 ID : 6306801449683

Status : Answered
Chosen Option : 4

Q.15 निम्नलिखित में से कौन यंग बंगाल आंदोलन से जुड़े थे?

Ans 1. के शब चंद्र सेन

2. हे नरी डेरोज़ियो

3. स्वामी विवेकानंद

4. ईश्वरचंद्र विद्यासागर

Question ID : 630680372090
Option 1 ID : 6306801449659
Option 2 ID : 6306801449660
Option 3 ID : 6306801449661
Option 4 ID : 6306801449662

Status : Answered
Chosen Option : 3

Q.16 ग़यासुद्दीन बलबन ने निम्नलिखित में से किस काल में भारत में शासन किया था?

Ans 1. 1296–1316

2. 1290–1296

3. 1210–1236

4. 1266–1287

Question ID : 630680372093
Option 1 ID : 6306801449674
Option 2 ID : 6306801449673
Option 3 ID : 6306801449671
Option 4 ID : 6306801449672

Status : Answered
Chosen Option : 1

Q.17 साक्षी कु मारी को किस खेल में अर्जुन पुरस्कार 2022 से सम्मानित किया गया था?

Ans 1. मुक्के बाज़ी

2. एथलेटिक्स

3. जूडो

4. कबड्डी

Question ID : 630680372083
Option 1 ID : 6306801449633
Option 2 ID : 6306801449631
Option 3 ID : 6306801449632
Option 4 ID : 6306801449634

Status : Answered
Chosen Option : 1

   

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.18 प्रायद्वीपीय पठार निम्नलिखित में से किस प्रकार के  शैलों से बने हैं?
I. आग्नेय शैलें
II. कायांतरित शैलें

Ans 1. I तथा II दोनों

2. ना ही I ना ही II

3. के वल I

4. के वल II

Question ID : 630680372103
Option 1 ID : 6306801449713
Option 2 ID : 6306801449714
Option 3 ID : 6306801449711
Option 4 ID : 6306801449712

Status : Answered
Chosen Option : 1

Q.19 अमीबा अपना भोजन _______ प्रक्रिया द्वारा प्राप्त करता है।

Ans 1. विसरण

2. प्रकाश संश्लेषण

3. एक्सोसाइटोसिस

4. एन्डोसाइटोसिस

Question ID : 630680372107
Option 1 ID : 6306801449730
Option 2 ID : 6306801449729
Option 3 ID : 6306801449728
Option 4 ID : 6306801449727

Status : Answered
Chosen Option : 2

Q.20 गहरे  समुद्री संसाधनों की खोज के  लिए तीन कर्मि यों को भेजने के  लिए राष्ट्रीय महासागर प्रौद्योगिकी संस्थान
(एन.आई.ओ.टी.) द्वारा किस वाहन को डिजाइन और विकसित किया जा रहा है?

Ans 1. मत्स्य 8000

2. मत्स्य 6000

3. मत्स्य 5000

4. मत्स्य 3000

Question ID : 630680372085
Option 1 ID : 6306801449642
Option 2 ID : 6306801449641
Option 3 ID : 6306801449640
Option 4 ID : 6306801449639

Status : Answered
Chosen Option : 2

   

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.21 जून 2022 तक की स्थिति के  अनुसार, निम्नलिखित में से किस भाषा को भारत में शास्त्रीय भाषा का दर्जा दिया
गया है?

Ans 1. उड़िया

2. गुजराती

3. मणिपुरी

4. बांग्ला

Question ID : 630680372098
Option 1 ID : 6306801449693
Option 2 ID : 6306801449692
Option 3 ID : 6306801449694
Option 4 ID : 6306801449691

Status : Answered
Chosen Option : 4

Q.22 ब्रिटिश संसद के  लिए चुने जाने वाले पहले एशियाई कौन थे?

Ans 1. महादेव गोविं द रानाडे

2. ईश्वरचंद्र विद्यासागर

3. मोतीलाल नेहरू

4. दादाभाई नौरोजी

Question ID : 630680372091
Option 1 ID : 6306801449663
Option 2 ID : 6306801449666
Option 3 ID : 6306801449664
Option 4 ID : 6306801449665

Status : Answered
Chosen Option : 1

Q.23 निम्नलिखित में से किस ने अपने चालुक्य स्वामी की अधीनता से इनकार कर दिया, उसे हराया और 'हिरण्यगर्भ'
नामक एक अनुष्ठान किया?

Ans 1. इंद्र तृतीय

2. दंतीदुर्ग

3. ध्रुव धारावर्ष

4. अमोघवर्ष

Question ID : 630680372094
Option 1 ID : 6306801449675
Option 2 ID : 6306801449678
Option 3 ID : 6306801449676
Option 4 ID : 6306801449677

Status : Not Answered
Chosen Option : --

Q.24 मुरली श्रीशंकर ने पेरिस डायमंड लीग 2023 एथलेटिक्स में _______ में कांस्य पदक जीता था।

Ans 1. डिस्कस थ्रो

2. बॉक्सिं ग

3. जैवलिन थ्रो

4. लॉन्ग जम्प

Question ID : 630680372084
Option 1 ID : 6306801449635
Option 2 ID : 6306801449638
Option 3 ID : 6306801449637
Option 4 ID : 6306801449636

Status : Not Answered
Chosen Option : --
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Q.25 निम्नलिखित में से कौन सा बैंक के  लिए एक परिसंपत्ति बनता है?
I. रिजर्व
II.कर्ज़

Ans 1. के वल II

2. I तथा II दोनों

3. ना ही I ना ही II

4. के वल I

Question ID : 630680372088
Option 1 ID : 6306801449652
Option 2 ID : 6306801449653
Option 3 ID : 6306801449654
Option 4 ID : 6306801449651

Status : Not Answered
Chosen Option : --

Q.1 एक बेलन की ऊँ चाई 11 cm है। पार्श्व सतह का क्षेत्रफल 484 cm2है। इसका आयतन क्या है?

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372152
Option 1 ID : 6306801449909
Option 2 ID : 6306801449907
Option 3 ID : 6306801449910
Option 4 ID : 6306801449908

Status : Answered
Chosen Option : 4

Q.2

 का मान क्या है?

Ans 1. 1

2. 8

3. 2

4. 4

Question ID : 630680372147
Option 1 ID : 6306801449888
Option 2 ID : 6306801449890
Option 3 ID : 6306801449887
Option 4 ID : 6306801449889

Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude (Basic Arithmetic Skill)
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Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372133
Option 1 ID : 6306801449834
Option 2 ID : 6306801449833
Option 3 ID : 6306801449831
Option 4 ID : 6306801449832

Status : Answered
Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372138
Option 1 ID : 6306801449853
Option 2 ID : 6306801449851
Option 3 ID : 6306801449852
Option 4 ID : 6306801449854

Status : Answered
Chosen Option : 2

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372143
Option 1 ID : 6306801449872
Option 2 ID : 6306801449873
Option 3 ID : 6306801449871
Option 4 ID : 6306801449874

Status : Answered
Chosen Option : 3
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Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372140
Option 1 ID : 6306801449862
Option 2 ID : 6306801449861
Option 3 ID : 6306801449860
Option 4 ID : 6306801449859

Status : Answered
Chosen Option : 4

Q.7 समीकरण x + 3y-5 = 0 के  समाधान हैं:

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372149
Option 1 ID : 6306801449895
Option 2 ID : 6306801449896
Option 3 ID : 6306801449897
Option 4 ID : 6306801449898

Status : Not Answered
Chosen Option : --

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372144
Option 1 ID : 6306801449877
Option 2 ID : 6306801449876
Option 3 ID : 6306801449878
Option 4 ID : 6306801449875

Status : Answered
Chosen Option : 4
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Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372139
Option 1 ID : 6306801449855
Option 2 ID : 6306801449857
Option 3 ID : 6306801449858
Option 4 ID : 6306801449856

Status : Answered
Chosen Option : 2

Q.10 एक घन का पृष्ठीय क्षेत्रफल 3174 cm2है। इसका आयतन ज्ञात कीजिए

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372153
Option 1 ID : 6306801449912
Option 2 ID : 6306801449913
Option 3 ID : 6306801449914
Option 4 ID : 6306801449911

Status : Answered
Chosen Option : 4

Q.11

Ans 1. 70 रुपये

2. 60 रुपये

3. 50 रुपये

4. 80 रुपये

Question ID : 630680372148
Option 1 ID : 6306801449891
Option 2 ID : 6306801449893
Option 3 ID : 6306801449894
Option 4 ID : 6306801449892

Status : Answered
Chosen Option : 1
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372155
Option 1 ID : 6306801449920
Option 2 ID : 6306801449921
Option 3 ID : 6306801449922
Option 4 ID : 6306801449919

Status : Answered
Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372134
Option 1 ID : 6306801449835
Option 2 ID : 6306801449837
Option 3 ID : 6306801449838
Option 4 ID : 6306801449836

Status : Not Answered
Chosen Option : --

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372137
Option 1 ID : 6306801449850
Option 2 ID : 6306801449847
Option 3 ID : 6306801449848
Option 4 ID : 6306801449849

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372156
Option 1 ID : 6306801449926
Option 2 ID : 6306801449924
Option 3 ID : 6306801449925
Option 4 ID : 6306801449923

Status : Answered
Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372136
Option 1 ID : 6306801449844
Option 2 ID : 6306801449846
Option 3 ID : 6306801449843
Option 4 ID : 6306801449845

Status : Answered
Chosen Option : 4

Q.17

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372157
Option 1 ID : 6306801449927
Option 2 ID : 6306801449930
Option 3 ID : 6306801449928
Option 4 ID : 6306801449929

Status : Answered
Chosen Option : 2
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Q.18 एक बेलनाकार स्तंभ का घुमावदार पृष्ठ क्षेत्रफल 792 m2हैऔर इसका आयतन 3564 m3है।इसके  व्यास और
इसकी ऊँ चाई का अनुपात ज्ञात कीजिए।

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372151
Option 1 ID : 6306801449906
Option 2 ID : 6306801449904
Option 3 ID : 6306801449903
Option 4 ID : 6306801449905

Status : Not Answered
Chosen Option : --

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372154
Option 1 ID : 6306801449915
Option 2 ID : 6306801449918
Option 3 ID : 6306801449916
Option 4 ID : 6306801449917

Status : Answered
Chosen Option : 2

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372141
Option 1 ID : 6306801449863
Option 2 ID : 6306801449864
Option 3 ID : 6306801449865
Option 4 ID : 6306801449866

Status : Answered
Chosen Option : 2
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372150
Option 1 ID : 6306801449900
Option 2 ID : 6306801449899
Option 3 ID : 6306801449901
Option 4 ID : 6306801449902

Status : Not Answered
Chosen Option : --

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372145
Option 1 ID : 6306801449879
Option 2 ID : 6306801449881
Option 3 ID : 6306801449882
Option 4 ID : 6306801449880

Status : Answered
Chosen Option : 4

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372135
Option 1 ID : 6306801449839
Option 2 ID : 6306801449841
Option 3 ID : 6306801449842
Option 4 ID : 6306801449840

Status : Answered
Chosen Option : 3
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Q.24

 का मान क्या है?

Ans 1. 8.1

2. 81

3. 0.9

4. 9

Question ID : 630680372146
Option 1 ID : 6306801449886
Option 2 ID : 6306801449883
Option 3 ID : 6306801449884
Option 4 ID : 6306801449885

Status : Answered
Chosen Option : 4

Q.25 यदि 0.6 × F = 0.09 × G, तो F: G =?

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372142
Option 1 ID : 6306801449870
Option 2 ID : 6306801449868
Option 3 ID : 6306801449867
Option 4 ID : 6306801449869

Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
After finishing high school, I plan to pursuing law.

Ans 1. Plan in pursue

2. Plan at pursuing

3. Plan to pursue

4. No substitution required

Question ID : 630680372064
Option 1 ID : 6306801449557
Option 2 ID : 6306801449558
Option 3 ID : 6306801449556
Option 4 ID : 6306801449555

Status : Answered
Chosen Option : 3

Section : English Language (Basic Knowledge)
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Q.2 The job, which entails _____textual input to effectively communicate with large
language models, has been hailed by World Economic Forum as the number one “job
of the future” .

Ans 1. optimizing

2. accessibility

3. distracting

4. Pledging

Question ID : 630680372070
Option 1 ID : 6306801449581
Option 2 ID : 6306801449580
Option 3 ID : 6306801449582
Option 4 ID : 6306801449579

Status : Not Answered
Chosen Option : --

Q.3 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

"A Western psychologist once revealed that there is no problem that cannot be solved,
while life without problems is empty."

A) Based on this manifestation, the authorities should always make monitoring and
take firm action against anyone who arbitrarily raises prices without obtaining
approval from the relevant authorities.
B) These words are indeed true and all citizens in this country must be grounded in
reality because every problem we face must have a comprehensive method and
approach.
C) Meanwhile, the government should also fulfill their responsibility to draft, codify,
and strengthen laws seriously and transparently so as to give warnings to traders.
D) Relevant government officials should also play an important role in conducting
surprise inspections of business premises from time to time to ensure that traders
comply with the established regulations and do not practice any unauthorized
activities.

Ans 1. BADC

2. ABCD

3. BCDA

4. DACB

Question ID : 630680372067
Option 1 ID : 6306801449570
Option 2 ID : 6306801449569
Option 3 ID : 6306801449567
Option 4 ID : 6306801449568

Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to complete the following sentence.
When I was a child, I__bite my nails.

Ans 1. used to

2. did

3. Went on

4. Use to

Question ID : 630680372073
Option 1 ID : 6306801449594
Option 2 ID : 6306801449592
Option 3 ID : 6306801449593
Option 4 ID : 6306801449591

Status : Answered
Chosen Option : 1

 
        

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.5 Choose the most appropriate meaning of the below quoted idiom
“Give someone the benefit of the doubt“

Ans 1. Having trust issues with someone

2. Be doubtful about someone’s intentions

3. Never trust someone at all

4. Trust what someone says

Question ID : 630680372076
Option 1 ID : 6306801449605
Option 2 ID : 6306801449604
Option 3 ID : 6306801449603
Option 4 ID : 6306801449606

Status : Answered
Chosen Option : 2

Q.6 Greg likes to throw _______ racket into the air when he wins a point.

Ans 1. their

2. his

3. through

4. mine

Question ID : 630680372069
Option 1 ID : 6306801449575
Option 2 ID : 6306801449577
Option 3 ID : 6306801449576
Option 4 ID : 6306801449578

Status : Answered
Chosen Option : 2

Q.7 Choose the most appropriate one-word substitution for “Persons who abstain from
alcoholic drinks”

Ans 1. Teetotalers

2. Ascetics

3. Celibates

4. Immature

Question ID : 630680372063
Option 1 ID : 6306801449551
Option 2 ID : 6306801449552
Option 3 ID : 6306801449554
Option 4 ID : 6306801449553

Status : Answered
Chosen Option : 1
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Q.8 Choose the most appropriate meaning of the below mentioned word:
Prioritize

Ans 1. Disperse

2. Disorder

3. Organize

4. Forget

Question ID : 630680372077
Option 1 ID : 6306801449610
Option 2 ID : 6306801449608
Option 3 ID : 6306801449607
Option 4 ID : 6306801449609

Status : Answered
Chosen Option : 3

Q.9 Choose the most appropriate meaning of the below mentioned word:
Holistic

Ans 1. Limited

2. Partial

3. Restricted

4. Comprehensive

Question ID : 630680372078
Option 1 ID : 6306801449613
Option 2 ID : 6306801449611
Option 3 ID : 6306801449614
Option 4 ID : 6306801449612

Status : Answered
Chosen Option : 2

Q.10 Choose the correct answer from below options that suits the below mentioned
question:
She__ how to speak Spanish.

Ans 1. new

2. know

3. now

4. knew

Question ID : 630680372082
Option 1 ID : 6306801449627
Option 2 ID : 6306801449628
Option 3 ID : 6306801449630
Option 4 ID : 6306801449629

Status : Answered
Chosen Option : 2
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Q.11 Choose the most appropriate one-word substitution for “A person who is hard to
please”

Ans 1. Not friendly

2. Fastidious

3. Ferocious

4. People Pleaser

Question ID : 630680372062
Option 1 ID : 6306801449550
Option 2 ID : 6306801449548
Option 3 ID : 6306801449547
Option 4 ID : 6306801449549

Status : Answered
Chosen Option : 2

Q.12 _______ the day, owls would usually rest in their nests.
Ans 1. At

2. Also

3. During

4. While

Question ID : 630680372071
Option 1 ID : 6306801449584
Option 2 ID : 6306801449586
Option 3 ID : 6306801449585
Option 4 ID : 6306801449583

Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Our guests arrived; they are sitting in the garden.

Ans 1. Shall arrive

2. Are arriving

3. Might arrive

4. Have arrived

Question ID : 630680372065
Option 1 ID : 6306801449559
Option 2 ID : 6306801449560
Option 3 ID : 6306801449562
Option 4 ID : 6306801449561

Status : Answered
Chosen Option : 4
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Q.14 Choose the correct answer from below options that suits the below mentioned
question:
Her shoes are ___ small.

Ans 1. too

2. twoo

3. to

4. two

Question ID : 630680372081
Option 1 ID : 6306801449626
Option 2 ID : 6306801449625
Option 3 ID : 6306801449623
Option 4 ID : 6306801449624

Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate option to complete the following sentence.
I had never expected to get the job. I was really ___when I was offered it.

Ans 1. satisfies

2. amazing

3. amazed

4. interesting

Question ID : 630680372072
Option 1 ID : 6306801449588
Option 2 ID : 6306801449587
Option 3 ID : 6306801449589
Option 4 ID : 6306801449590

Status : Answered
Chosen Option : 3

Q.16 Parts of the following sentence have been given as option that contains an error in
spelling. If you don’t find any error, mark “No error” as your answer.

It is clear that organizing consistent and holistic thrift campaigns is a powerful shield
to unraval the issue of rising commodity prices.

Ans 1. thrift

2. organizing

3. unraval

4. No error

Question ID : 630680372079
Option 1 ID : 6306801449616
Option 2 ID : 6306801449615
Option 3 ID : 6306801449617
Option 4 ID : 6306801449618

Status : Answered
Chosen Option : 3
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Q.17 It was a windy day. John and I decided that it was the perfect day _______ kites.
Ans 1. is flying

2. for

3. To fly

4. flying

Question ID : 630680372068
Option 1 ID : 6306801449574
Option 2 ID : 6306801449571
Option 3 ID : 6306801449572
Option 4 ID : 6306801449573

Status : Answered
Chosen Option : 3

Q.18 Choose the most appropriate meaning of the below quoted idiom
“Better late than never”

Ans 1. Better to arrive late than not to come at all

2. Better to not go at all

3. Better to arrive late always

4. Always be on time

Question ID : 630680372075
Option 1 ID : 6306801449600
Option 2 ID : 6306801449601
Option 3 ID : 6306801449599
Option 4 ID : 6306801449602

Status : Answered
Chosen Option : 1

Q.19 Choose the answer below that spells the word in bold correctly:

John, Leo, and Lucas all went to a restarant together to have a nice dinner.
Ans 1. Resteraunt

2. Restaraunt

3. Restarrant

4. Restaurant

Question ID : 630680372080
Option 1 ID : 6306801449621
Option 2 ID : 6306801449622
Option 3 ID : 6306801449620
Option 4 ID : 6306801449619

Status : Answered
Chosen Option : 4
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Q.20 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

In this era of globalization, society seems to be too busy chasing worldly luxuries and
often neglects healthy lifestyle practices, especially recreational activities.

A) It is clear that recreational activities can strengthen relationships between
individuals.
B) One of the benefits of recreation to society is the ability to strengthen relationships,
whether with the local community or with one's own family members.
C) This is because they take the importance of recreational activities lightly.
D) This is because through recreational activities, individuals will interact with others
around them, thus strengthening relationships.

Ans 1. CBDA

2. BADC

3. ABCD

4. CDAB

Question ID : 630680372066
Option 1 ID : 6306801449565
Option 2 ID : 6306801449566
Option 3 ID : 6306801449563
Option 4 ID : 6306801449564

Status : Not Answered
Chosen Option : --

Q.21 Select the most appropriate option to complete the following sentence.
We went to a nice restaurant today. I ___spaghetti for lunch.

Ans 1. Have been eating

2. Did eat

3. eaten

4. ate

Question ID : 630680372074
Option 1 ID : 6306801449595
Option 2 ID : 6306801449598
Option 3 ID : 6306801449597
Option 4 ID : 6306801449596

Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 22
Q.22 Identify the central theme of the passage
Ans 1. The Cold War between America and Russia in the 1960s was not just a race for

military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon.

2. the exploration of space undoubtedly is the most exciting endeavor

3. space continues to hold much promise for Man

4. Recent planetary probes and cameras have found evidence of water on Mars, raising
hopes of the existence of life in space

Question ID : 630680372058
Option 1 ID : 6306801449534
Option 2 ID : 6306801449531
Option 3 ID : 6306801449532
Option 4 ID : 6306801449533

Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 23
Q.23 Identify the inferences drawn from the passage
Ans 1. the exploration of space is undoubtedly the most exciting endeavor that Man can

undertake in the 21st century

2. the possibility of finding aliens in space remains the ultimate dream of many
scientists.

3. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space

4. Human being has seen it all and now no more discoveries are left

Question ID : 630680372061
Option 1 ID : 6306801449546
Option 2 ID : 6306801449544
Option 3 ID : 6306801449545
Option 4 ID : 6306801449543

Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 24
Q.24 What is the meaning of “Enormous ”?
Ans 1. small

2. less

3. Huge

4. Micro

Question ID : 630680372060
Option 1 ID : 6306801449541
Option 2 ID : 6306801449540
Option 3 ID : 6306801449539
Option 4 ID : 6306801449542

Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 25
Q.25 Identify the suitable title for the passage
Ans 1. The exploration of Earth

2. Man Vs Space

3. The Space and its challenges

4. The Final Frontier: Exploring the Boundless Possibilities of Space

Question ID : 630680372059
Option 1 ID : 6306801449537
Option 2 ID : 6306801449536
Option 3 ID : 6306801449535
Option 4 ID : 6306801449538

Status : Not Answered
Chosen Option : --
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